/DVIRB

3UDFRZQLN 5RINdDG GU 6RANVLDN = LROHWD 7\J

o
™
=
n
7\6] 7N 7N
6HPLQDUXP QDXNRZR HGXNDFNIQH = HSUHVID L IHI RELFTD GU GRANVIDN = LRIHIID =% OHIRG\ND 1DICi OHIRG\ND DICii NRPSXIHIRZAFK Z
NRPSXIHIRZ\FK Z SUTHGVIN [N | ,,, GU GRANVIDN
SUTHGVIN LI | ,,, GU SRHID =  .20387(52:%
7\6] BRANVIDN = IRIHIID = G:/ &
— OV .20387(52:%
= DIV]IDIN .
HGXNDIRUNLH @G:=7 & ™
0z Gl ZNJ  IDGFD PO |||oHIRGwWD TDICH
GRANVIDN NRPSXIHIRZ\FK Z
= IRHIID =% SUTHGVIN LN | ,,, GU
=% BRANVIDN = [RIHID =
=% @3:-7 -
ZIX\J IDIGFID GR
a
o}
o4
oD
=
7\6]
OHIRG\ND
DiCu
NRPSXIHR
Z\FK Z
SUTHGVN L
N, Gl
BRANVIDN
= [RIHIID
_20387(
52:-3%
@G3:z7
&
7N 7N
OHIRG\ND JDIGii NRPSXIHIRZ\FK Z OHIRG\ND JDI IHFK Z SUTHGVIN LN)
SUTHGVIN NI , ,,, GU GRIAVIDN o = GUBRANVIDN = RHIID =
= CRHID =  .20387(52:% GB:7 =
< 3/ (:& IDICFD Z NI GR
2 ZIN\J  JDICFD Z
N
= 7N
OHIRG\ND JDIGii NRPSXIHIRZ\FK Z
SUTHGVIN NI |, ,,, GU GRIAVIDN
CRHID =  .20387(52:%
3/ (3:&
=
™
A 7]
= OHIRG\ND DICii NRPSXIHIRZAFK Z
w SUTHGVIN [N | ,,, GU GRANVIDN
& ZIRHID = .20387(52:%

3z 5 -




/DVIRB
3UDFRZQLN 5RINdDG GU 6RANVLDN = LROHWD 7\J

VRERWD

7\J

OHIRG\ND ]DICU NRPSXIHIRZ\FK Z
SUJHGVIN LN0 , ,,, GU BRANVLIDN
Z[RIHID = .20387(52:%
3z 5 -

7\

OHIRG\ND ]DICi NRPSXIHIRZ\FK Z
SUJHGVIN LN0 , ,,, GU BRENVIDN
ZIRIHWD = .20387(52:%
35 @G:- =




